ATE AT , R09IWTS! YU qTges TR +had % TRASS

AF. [ARLGH| T T | srergor o o e (T
CISI qges | g
1 36-f-6| W\Enﬁ 22 110 110
2 30| 3rrgoTt 3 15 15
3 37 WEUTT 2 10 10
2 25| szt 16 80 80
5 55 Wgﬂ'ﬁ' 7 35 35
5 59| 3oty 5 300 30
7 75| Wgﬂ'ﬁ' 19 95 95|
8 90| wguﬁ 1 5 5|
9 114 Wgﬂ'ﬁ' 8 40 40|
10 137| grrgqort 23] 115 115
11 127 Wgﬂ'ﬁ' 70 350 350
12 128] ot 3 15 15
13 145 WEUTT 5 25 25|
14 151 3oty 18 90| 90
15 167| 3rrqort 3 15| 15
16 18] 3oty 2 0] 10
17 191 Wgﬂ'ﬁ' 10 50 50|
18 192] 3ot 3 15 15
19 199 Wgﬂ'ﬁ' 5 25 25|
20 201 srargqtt 2 20 20
21 208 W\Enﬁ 12 60 60
22 212 srarqtt 2 0] 10
23 248 Wgﬂ'ﬁ' 5 25 25|
24 260] srarqtt 2 0] 10
25 89 %ﬁ?ﬂTIT 21 105 105
26 108] s 3 15 15
27 122 %ﬁ?ﬂTIT 43 215 215
129 gy 1 5 5
28 169 sfrgeom 11 55 55
29 173 g 2 0] 10
30 178 srgem 3 15| 15
31 193] sy 7 3/ 35
32 213 %ﬁ?@'ﬂ' 7] 35 35
33 217 g 5 25 25
34 227 %ﬁ?ﬂTIT 5 25 25
35 231 g 2 0] 10
36 233 %ﬁ?@'ﬂ' 4 20 20
37 273 g 10 50 50
38 152|H7rqT WarT 1 5 5|
39 194\ 7raT Wt 1 5 5|
40 225|HraT WwarT 1 5 5|
71 G Fremmp—— 27 138 135
TOTAL 405 2025[ 2025




ST-FIT | parqort 66| 330] 330
2 26 wguﬁ 44 220 220
3 53 3‘1721"1“1'1' 34 170 170
4] 60 wguﬁ 13| 65 65
5 74 3‘]7;[\1171{' 8 40 40
6 76 wguﬁ 4] 20 20
7 89| srarqtt 38| 190] 190
8 95 wguﬁ 27 135 135
9 96| srrqtt 8 20 40
10| 106 wguﬁ 10| 50 50
11] 118] 3rarqort 62] 310] 310
12| 127 wguﬁ 14 70 70
13 128 srerqort 9 45 45
14 129| srerqurt 19 95 95
15 132] srargqert 20 100] 100
16 149| srerqurt 8 40 40
17| 155 3‘1721"1“1'1' 62, 310 310
18 162| srerqurt 145 725 725
19 165] srargqott 6 30 20
20 173| srerqurt 10 50 50
21 180] srargqott 92[ 460|460
22 181 wguﬁ 40 200 200
23 182] srarqort 13 65 65
24 183 wguﬁ 71 355 355
25 186] srarqort 62] 310] 310
26 190 wguﬁ 10| 50 50
27 63|9c 3ot 119] 595 595
28 91[ore 3aet 30 150[ 150
29 102|952 3ot 10 50 50
30 113[9e 39eT 18 90 90
31 12192 39cT 7 35 35
32 137|97e 39T 3 15[ 15
33 41| 9 3o 12 60| 60
34 146| 9= 397 65 325 325
35[146n qe 3T 98] 490] 490
36 151[97e 39et 13 65 65
37 158|972 39ct 45 225 225
38 179 9e 39 62 310 310
39 101|Rrgrast=t S
40 131 Rrresty 9 45| 45
a1 136| Torrg st 26 230] 230
a2 139| Tyrargaty 9 25| 45
13 145|Rrgg ety 3 5 15
42 163[frrget=r 90|  450] 450
5 172| s 6 30] 30
6 177| st 8 20| 40
47 189| Rrrast=t 51 258 255
28 230| Rt 30 150 150
TOTAL 1636] 8180[ 8180




138163 |o= 3ot 8 20 40
2 120[97e 39eT 62 310 310
3 140 5= 3t 28] 140] 140
4 145[97e 39cT 90| 450 450
5 163|95= 3T 16 80 80
6 208[9e 39T 8 40 40
7 225 57= 3T 30 150|150
TOTAL 242[ 1210] 1210

1[39FM-90 [lokseva 10 50 50
2 94l1okseva 10 50 50
3 121[lokseva 20 20
4 171[lokseva 20 20
5 45|dombivali 1 5 5
6 144 dombivali 10 50 50
TOTAL 39] 195 195

1[39-FS71 |Stramaa 31 12 60 60
2 78| S rerae 3 3 15 15
3 95| S¥reraa 3 10 50 50
2 11| Streracty 39 12 60 60
5 136 Srrarae 3 4 20 20
6 169| S treractt 31 26  130] 130
7[28sub33 [errmarar 25| 125 125
8 69| e 71 355 355
9 79| remaar 21 105 105
10 88| eTrpaaT 4 70] 70
11 118 reparar 10 50 50
12 135| treparar 2 0] 10
13 166|creparar 8 40 40
1 T76| e o 45| 45
TOTAL 227| 1135 1135

1[40-FM-50 |92 39eT 10 50 50
2 799 3o 28] 140] 140
3 225(9 3 115 575 575
4 235|9e 3o 35 175 175
TOTAL 188 940[ 940




1]40-FS-28 | IegTH-IIT QTET 15 75 75
2 113 ICBTHIT TET 4 20 20
3 147) =TT QTET 23 115( 115
4 241 ICETHIT TET 7 35 35
5 250 IFETHR 9TEX 1 5 5
6 276 ICBTHIT TET 9 45 45
TOTAL 59 295 295

1|41-FT-29 W\zﬂﬁ' 21 105 105
2 55 315[501-} 29 145 145
3 66 W\zﬂﬁ' 18 90 90|
4 68| 315[501-} 21 105 105
5 72 W\zﬂﬁ' 46 230 230
6 132 315[501-} 8 40 40|
7 166 W\zﬂﬁ' 20 100 100
8 170 315[501-} 12 60 60|
9 191 Wgﬂ'ﬁ' 8 40 40|
10 192 315[501-} 25 125 125
11 252 Wgﬂ'ﬁ' 70 350 350
12 273 315[501-} 11 55 55
13 283 Wgﬂ'ﬁ' 14 70 70|
14 321 315[501-} 45 225 225
15 339 Wgﬂ'ﬁ' 5 25 25|
16 362 315[501-} 17 85 85|
17 388 Wgﬂ'ﬁ' 27 135 135
TOTAL 397 1985| 1985

1|41-FV-12 315[501-} 20 100 100
2 70| Wgﬂ'ﬁ' 6 30 30|
3 91 315[501-} 18 90 90|
4 97 Wgﬂ'ﬁ' 41 205 205
5 98| 315[501-} 18 90 90|
6 104 Wgﬂ'ﬁ' 8 40 40
7 126 315[501-} 83 415 415
8 141 WEUTT 4 20 20|
9 167 315[501-} 19 95 95
10 241 Wgﬂ'ﬁ' 19 95 95|
11 289 315[501-} 12 60 60|
TOTAL 248 1240| 1240

1|41-FB-43 W\zﬂﬁ' 28 140 140
2 45| 315[501-} 78 390 390
3 64 WEUTT 9 45 45
4 84 315[501-} 9 45 45
5 136 WEUTT 33 165 165
6 186 315[501-} 24 120 120
7 222 W\zﬂﬁ' 31 155 155
8 380 315[501-} 9 45 45
9 409 W\zﬂﬁ' 16 80 80|
10 78{ e et 92 460| 460
11 169|HraT Wt 16 80 80
12 184| qraT Wt 82 410( 410,
13 201 HraT WarT 9 45 45
14 231 qrar Wwart 3 15 15|
TOTAL 439| 2195 2195




1{46-FA-9 = D ERSIGES 29 145 145
2 21 T I T 2 10 10,
3 24 = D ERSIGES 9 45 45
4 27, T I T 2 10 10,
5 33 = D ERSIGES 3 15 15
6 60 T D ERSIGE:S 6 30 30
7 63 = D ERSIGES 1 5 5|
8 65| T D ERSIGES 5 25 25
9 75 = D ERSIGES 1 5 5|
10 89 T D ERSIGE:S 33 165 165
11 93 = D ERSIGES 13 65 65
12 112 T I T 22, 110 110
13 113 = D ERSIGES 7 35 35
TOTAL 133 665  665|

1{46-FB-40 (& mraT 2 10 10,
3 43[ mraT 1 5 5|
4 44|18 7aaT 1 5 5|
6 A7\ TTaT 1 5 5|
8 53 7raT 6 30 30
9 549 73T 3 15 15
10 55(= 7raT 16 80 80
12 72|, 7e7aT 1 5 5|
14 77(& 7araT 1 5 5|
26 126| o TeraT 5 25 25
31 133l | TeraT 8 40 40
TOTAL 45 225 225

1 1 WW AT 4 20 20
2 5| 31§[qc'\uﬁ T 18 90 90
3 12 WW AT 29 145 145
4 13 31§[qc'\uﬁ T 5 25 25
TOTAL 56 280[ 280
1{36-F 405 2025/ 20.25
2|37-F 1636 8180 81.8]
3|38-F 242 1210 12.1
4(39-FM 39 195/ 1.95
5/39-FS 227 1135 11.35
6/40-FM 188 940 9.4
7|40-FS 59 295 2.95]
8|41-FT 397[ 1985| 19.85
9|41-FV 248 1240| 12.4
10|41-FB 439| 2195/ 21.95
11|46-FA 133 665 6.65]
12|46-FB 45 225  2.25]
13|48-F 56 280 2.8
TOTAL 4114] 20570| 205.7




